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6 Risk-based capital is the amount of capital needed to absorb the risks involved in the
10 : . : " .
operation of insurance business, as it is calculated by the elements of risk. Please answer
the following questions according to the regulator’s guidelines on the calculation of all the
elements of risk and capital adequacy ratio:
What are the elements of risk for life insurance companies and property-casualty
insurance companies? 8
In 2004, the Basel Il announcement created more risk-sensitive capital requirements What are the reporting mechanism and calculation basis for investment portfolio in
to promote the safety and soundness of financial system. But credit crisis in 2007, it the stock market? 7
revealed some weaknesses in the regulatory framework and led to a new round of Please briefly explain how to include investment linked insurance product in the
revisions, called as Basel IlI. capital adequacy reporting. 5
Please answer briefly the following questions: Why you have to specifically separate a related party to an asset risk? 5

What is a set of pillars to construct the regulatory framework in Basel [1? 6
What kinds of risk types shall we charge risk capital? 3

Based on local regulations, if the bank’s total capital adequacy ratio is 6% or
higher but below 8%, what kinds of regulatory actions will be taken by the
authorities? 10

In Basel lll, the “capital conservation buffer” requirement will be launched. What
Is it? and What does it impact on banks? 6



